
  
����� �� � ��	 �
� 1396 -   ) ���� ���	 � ��� ������ �  !��� �"	� : ��$!% � &��%HSEHSEHSEHSE (  

  

 

  

&�()  1   ��    3  
 

��� �*  !��� +")�  

    

                     �� ��� ��	
��� 
��	� �	��	� �	�� ���40  ���� � ����� ���!�	  ��

"�#� ��$%�	& �	�� '	   ��()�'�� � � ��.  +	� ��1395   0 12� 
3$�4��

�� 5� 6��$� 7��$� 5� �	& �� �8	9 ����� ���(� 	� ��$:� ��	���� �9���$: 8837 

� =��$>� ?3	�� @�� 05A�	� ���(� 	� �)
31244 5A�	�  � ���(� 	� 12� $3	�2285 

5A�	� ?�� C����
  . 
��� 812  $D9

 �� �	& �� �8	9 ����� �� �� ��! �	�

��� ?��� C�95& 	E9� �	�� ��   12�

'�)2� �� 6�>� � +�� @	>�  ?�	��

?F� GH� $� 5� @	>� �� 5� �� @

 0 12� $3	� .� � �� I	J�!� ��!

 7��$� 5� 0�!�� �K�  C�8 @L�� '�	& ����� 1���� 
3$�
E� �� �M�H&� ���
&

.?�� C�8 $N)� ��$%�	& =�: 5� 5&  

 '�$: ?O	D� =�P�EN� �� C�	D����>2� �9�9	Q 5D�O� R3 � �9	H9� @��Q� R3  

��8 ��. .��� � 	& �� '�	& ����� ���� �� �)
3� =�P�EN� �� C�	D��� 	�  

:  !��� �,�  ?F� =	�$S ���!$� �8	� �� �	& ����� @�� 5��� ��$� 5�.  

:  �"-   1�	Q $�T =�$�A	� G�>�H� ��� 5� ��O	D� '	  �8�% �� C�	D��� @��

�� $� ��4%$�.�)& �� ���� �	H9� �U��)8 G�H�� ' '�� � (�2W8 '$& )      

@��9� Y���% G�H�� 0Z�$� � 72Q $�[9 ���$K3� '	  � � =��� 5� ���� � \	J�

'$K8	!$] � S� \�$^5�8�_% $�A	9 � ��$% �� ��! �	4: �3�P:�  `�	�.  

: .!�/ �	��  ��	^�  90 ���� �� =	��� �
4a �� 5�H9��� 5� 5^��� C�	D��� 

7�	)� �� �8�] �
4a b	D� '$�%�2� .��8  

: ��� 0(�  ��8 �� C�	D��� C�9$� � P�� @	H�� 1�	>� �� 	] �� ?O	D� '�$� �

�� �c3$�cd� =�$^! ��!��'$�%�2� �K .�3	
9 ��  

: 0123*  �3	�
�8 ���� 	� e	
� ?E� '� C�>d	� 1�H9	�] f�)� 0 ?��] g^�

8	� �� h	9$^! � �
� �3�PH� ?�
 � �� ?��] 	� ���� 
3� e	
� �� ?(9	
� � �

?�� �����!$�.  

C�	�61 : '�$: ?O	D� 5�	9 
�3�  C�	D���   �c��� �� ��O	D�  �3	 �	& '�$�  

5&   +	
���
�8	� h$#�� =	(^Q 	� �� '$�%�� .?�� k�)
� 0���� ���� =l� 

�	c8�$�  =�$D9 	��J! - �	& n)�  

��� 4�56�&���"7 ��87  

        

       5�	8�9  ?�� �9�$3� '	  C���9	! 
�� �� o$J�$] '	  �9��8�9 �� �c3 5&

 C�))&�	N3� p���� �� �� n9� ������ @��&$  .�8	� ��_% $�A	� ?�� 
c
�

 �� G�� 	  5�	8�9 C�) � 1�c4�  0 \�$c80 C�) � G(�0 R�)�$&����0  ����

R3$DH: 0	  �9��P:�0 C�9���EK9 ���� � C�) � n9�  Rq& �� '$�%�2� '�$� 5& )

9��� �� (��8 �� C�	D��� $c8 ���� 1�d� 5� 5�	8�9 ���)8	� $r� �).�  ����

��% �� +L�!� `�	� �c4� '	  5�	8�9 ���� R3$DH:�_T Y�0  ��8 '����

��!0 ��! 5� 	E9��F��� �� G�H2& ����0 ���F��� �&�] ?3	E9�� � G�H2& f:�0 

	  5�2& 5� �	4:0  GE� � 5�2& n)� �	N3��.��8 �� ��� $DH: � G�H2& +�	(� �� 

�� R�)�$& �	% G�H2& \_� @��0  
����

 �3�8 s&LD3� � ���9� '	)�� 
�:�

� C�$
  5� �� �8���% G�H�����.  \�

  C�) � 1�c4� ����	%  7�� 5�	8�9

0�8���% =Lc4� �	N3�  �� 'l	� �)Q

�Q	a� ?�	3� ?3	E9�� � ��!�)Q �3�P:� 7���   1���� �� �c3 5�	8�9 .��8 ��

�� 53_W� t�� �� $A�� \� '	� 5� 5�	8�9  ��$& 
3PK3	� .�8	�0 C��
�� � C��� 

o$J�  �� 
��	�3� '	 ���
& �	a� �� C�))&�)&  ��  ���� 
�u:	& 
�)v
  �

72Q �q� $� C�L�0 �	N3� �K�H��� s� � R3$#� �� 'P&$� ��J� G�H��     

 .�)& ��0?�� '�Q �	�H� 5�	8�9 5�3����  ��8 �� C�(� ���� C�	� 
3� ��Q� �_d

 5& �)a$  C�(�?�� �� 1
#� 5� ��	Q 0  `�	� 	�� 1�)���8 ���� g8$� �� C�(� 

: .��8 ��5& '�$  C��� 	� C�$
  �� �� $%� C�$& �� C�	D��� 5�	8�9 �� 	
U��

 C�8 �	N3� =�	� 1�d�� �)c9 1�� �3�_T 0 �8���% G�H��+L�!� �	a� �9��    

.��8 �� 9 n9�) . ?�� 1���	& $�	! 5� �c4� '	  5�	8� =��$� ?#� �)Q ��Q�

�� '	  5�	8�9 ��  (��8 �� 13��� n9� �� 5� �$�K����$Q �3l	�� � 5 n9� 1�d�

	E9� 5�  C�8 5:	S� ���)J� '	  C�) � 0 �	�$� $^! l	� �3�� ��  .�8	� �$S



  
����� �� � ��	 �
� 1396 -   ) ���� ���	 � ��� ������ �  !��� �"	� : ��$!% � &��%HSEHSEHSEHSE (  

  

 

  

&�()  2   ��    3  
 

�
9 $��W� �� =�$�	F� 	E9� n9� =�	D� � ?�� �	Hc3 	  5�	8�9 @	
�  �)a$  � �

�d� 5� ) ��D� '	  5�	8�9 ����� 5& �c4� sq� (	  59��K9� 
�8��9 1) 
�8�� 	�

	�3$>� 1���	&"  � (�$S �� 5� (���)J� '	  C�) � n9� 1�d� 5� ) ��� ?3	E9��

�� w$^� G  5� ?�H9 '$�E� ?�(S� �� 7��$� �9�8 0  5� 	E9� �� R�v�  	��

 5& �$a ���� 	�9� �� 5�	8�9 o$J� '�$� �� +�� @	>� ��$3� .�9���9 ?�#��� '$K3�

 ���� 	�9� �� 5�	8�9 o$J� 59�$�10  	�12 $��d ?�� ��� ��$3� �� 	��  ��40  $��d

.?��  

...;�<� =,> �&?���  

         

         �)�F3� ��� 0�)�H�9 ��F� ��� 5� 	� $[9 �� 5& '���� @	
� ?8�� 5��� �3	� 

 G3�8 �� 5���� 0G3���)�� � 	K9 5d	�� 
:� � '��� f
� '	  5)3P  5� $%� .?H�9

'$�%�2� �E��� 1�	Q 53	�$� hLE��� �� ���� �� ?Q� �
& 	� 5& �$&.  5)3P 

 5d	�� 
� $  
:� � '��� f
�35 ?�� +	3� ��P .  �3	� _T	& 
� $  ��d�� '�$�15 

 @��)���d� 
� $  ��d�� '�$� � ��8 f^Q �)��)� ?!�� 52��4  � ��(� n)� 
�

7  5�	� � 
8 '�	3� ���>� �3	� 54�8 ��d�� '�$� .?�� @�l $�Q � n)� +	T� 
�

C�L� .��8 x�$F��� 
��� ��  P�9 \� � ?!�� '�	3� ���>� �� $� '	 �)3�$: ��

 ��&_���8 �� o$J�.  ���� 5d	�� 
� $ 400  '� '� 59	F2% �	% 7(c� $��

 5d	�� 
� $  �� � �)& �� ��	J�� 
�$& ��H&�400  	�600 x�	! 5��$�8 $��d        

�8	� 5�8�� h	! � \� '�� �&	9$^! $�A	� �9��� �� 5& ��8 ��. � '	  1#� 
:

5d	�� P�9  .�))& �� ���] '$�4�� Y$�H% ��� $  �� 
3� �� 
�
  5� 5d	�� ��d�� $%�

 o�$�� �S��� @	
� 5& ��4& � ��F9 +�� '�	3� =�� 0�8	� 5�8�� 5���� 7��$�

�9	� � ��F9 �Q	� 5d	�� 
:� '�$� �2#� � C�8 5d	�� �� $] 	 $E8 .  

���� ���� �� '�	�H� ���� �� ?(��� 5� ?4%�	 � ��	N9� �� +�� 5� 5d	�� �� ��

+	� ���� 
3� �9�8 �� ?H3� "�#� 5� 7��� � �%��d� `�	� 	  . 0$K3� '�� ��

\�$c�� �8� '�$� ���! �	c� 	 $E8 � 1#� �� 5d	�� ��8 5�8	�9�  � ��d�� � 	 

?�� Y�� $�[9 'y�� ����9	� � =�$4� $�zc�.  

...���7 �� �@  ���A = &�@  

          

       � 1#� 	3 05���� 0+P)� �� R4! �� $� '	  5d	�� R�cD� 5� ��P�� 5a ��)&	

 	��H9 5d	�� 1^� R3 ">: ��)  �9�$3� '	  59	! $z&� �� .�3� 5�!��$] ��! �	&

 '	  5d	�� @	
� 5��� ���� C���9	! '	r�� � ���� ��$Q (59	!Pq8� �� l�
(�) {�P�

Nc3 �� R4! � $��)3	
9 �� '��� f
� 1^� �� �� 	 .  

 
3� 0k�$8 '�$� ���� 5d	�� 5
  	�3$>� 
�JJF�� 5�D% 5� 5& �3�	qH� $�	! 5� ��

�)�H  ?:	3�	� 1�	Q 	 . $� �	�� ���� ?:	3�	� 0R4! �� $� '	  5d	�� R�cD� 	�      

 ����8.  �d� �$�% =��� �J>� 	3 ���� �� �9��� �� 	  5d	�� R�cD�3$�E�
0 

�9	��� 
3$� 
3$� 5)3P  G& �  1c8

.?�� |��� �� R�cD� 0?:	3�	�  ��

�� 0Y�� 
3�U s] ?:	3�	� 1�	Q =��

 +P)� �� '�	���� �� �	& 1#� 	3

C$�!y ?E� CM3� o�$O 5� '�	�  '�

��[)� 
3�� 5&  � 1>�)� 0C�8 7J9

s3�$� "��� sq�  � CM3� '	 

 13��� 1#� 5� ��d�� 1#� �� G[)�

�� 1
� �89 
3� =	)H#� �� �c3 .�

 ���� �%��d� � 6L�!� @�� Y��

 5N��9 �� � G  	� ?:	3�	� 1�	Q �3��

 � �9�D��S 5� �	�9 @��

?H8 5)3P  o$� � C�	��� '�8� .?�� ���	� '	   �� R�cD� 	3 � '�	���� Y��

�� �� �c3 P�9 �J>�Y �� ���� '�	���� � ?:	3�	� '	 U�� \	H� 5� � �3�.  �� 	��

 
3� f:� 	3 +	>�9� P&�$� 5� ���� �� s] ?:	3�	� 1�	Q =��3�� 0Y�� 0 Y�� "���

G�H�� k��9� "��� 	3 �9	H9� '�$�9 o$� 	� ��)�  0�9$� �)9	
  CP�9	c� '	 


 � �� ��� � R�cD� ���� 1!�� �� ....� �	� 19�� 0	�� �89.�  ���� �� $� '	  5d	�� ��

 ��d�� ��	�� �� � (�d� ��&) ?��q
& �� '�	�H� ��N� ��d�� '�$� R4! '	  5d

.�$& C�	D��� =l�J#�  



  
����� �� � ��	 �
� 1396 -   ) ���� ���	 � ��� ������ �  !��� �"	� : ��$!% � &��%HSEHSEHSEHSE (  

  

 

  

&�()  3   ��    3  
 

 0}$� GF� ?��] 0=	���� 0?8�% k��9� 0~9$�) �_T '	 �9	
H] 1�	8 $� '	  5d	��

0(���F���  C��� 	  � 'P�� 0	  =	(3	S �9	�T	� 0�9����� 5d	D� '	a 	3 0C�EQ 

+	
��� '_T	&1% 0'� 5H�& '	a 0 � �� ... � �	 	�% � 	 �8	.   

 0��>� � _T	& 0=�P2: 054�8 0	  R���L] k��9� 1�	8 R4! '	  5d	�� '	  ?&	]

C��
�� � $�8 '_T	& �  $ �� �� '�� $� ?:	3�	� ?�L� 5v9��8	� C�8 x        0

�8	� ��.  

 ��7 =�(>� B52�	 �"7�	 ��-5C�    

        

         1�	� $�T �):��] � ��$#� ?3$3�� 5�D  ?��	)� 5� ���  � ?H�� 5�)8 �	Ea

 �	�� @�	Ea96   C	K�H3� � C	%�$�9 h$�4� ��9	� 5�	9$�13  ���� � �9	49 ���

k�S�� 	� �9	49 ��� �	��	� ?�P   +�Hq& �� $2& �	% ?49 '	D�� '�3�	)� �

800  ��$%�2�&�� C�	D��� ���� ?3	�  e�� ��9	� .�3�$% ��P%$� C	%�$�9 �9� $2&

 ?�	�9:30   5�)8�	Ea ��� C$E� � �
�8 ���� o$� �� $2& �	% ��49 @L�� 	�

 �)
3� ���� =�$D9 52�	:L� . �8 �	T� '���$� �N� 	� �9	49 ��� ?O	D� =�P�E

�! � �	�9 ���� '�$: ?49 G3$� �  �9��
9 5(��$� 1#� 5� �9	49 ��� '	  ���

	N� '	  �	
�!	� ?��$� ���� '�	c
  	� � �9��
9 �F4� �4&���9 	� �� �	% ��

�9��
9 5�2F� 0 ?:$�� 	E9� �	)&	� ?���
H� � �	% $49 +	
��� 5& �� G3$�  	� �

0C�	(d� Z�: ?�(S� $
�H� @L�� ��$:� ���� @�� ?E� @�l '	  $&_� $�T 

 .�8 C��� C�8 �4&���9 G3$� 5>^)� 5� +�uH�  

 C�	D��� 	�9����  � �9	49 ��� '	  n)2�8 �� 5� �� 5��#� �� ����� '	  ?

� �� . �9�$& �	T� �� �9� $2& 5��#� �8	] \� ?E� ��  5� ?�H9 $2& �	% 5& 	N9

 5� �� �	4�9� +$�)& � 1#� �� C�8 $4�)� $2& f:� 5� �8	] \� 
3� ?�� 
�K)�

� .�3	
9 �� R
& C	%�$�9 6	>9 $3	�	�� �� 5& ���	c
  �� $D9 �� 5A�	� 
3� �� 

5�d�� '	  2� 5� �9��� 1#� �� �	% ?49� ? �9�8 ?���
H� �	a� $2& �	% sD)

L� 5&5� 52�	:  C	K9	��� 5� C	%�$�9 s9l���� 52���� � @L�� C	%�$�9 C	K9	���

 C	K�H3� 0 5�d�� =	���Q� 
3� =����� 5�  .�9�8 @�P��13 �� � �9	49 ��� ?�P  ��

	3$� �� �� �9	49 ��� �	��	� � 
3� . �9��
9 ���!�$: � C�����$Q 5A�	�  


3� ��  =	�2
� �� 52�$� ?�	� ��)9:40(  �� '��� ��� � �3$� k�Q� @L��

?!�� �PF� o�$�� �� fQ��  ?:	3�� 	� . �8 ?:	3�� C	%�$�9 �Q$8 +	
8 f2S

 1#� 5� �9	49 ��� '	 ����! C�$
  5� ��	�2
� =�$D9 �� �4F�  0 $�! 
3�

2& ?49 '	D�� 1#� 5� ���N� �3$� '	D�� �� s] � �9��
9 5(��$� ?(��$� $

.�9��
9  

 �9	49 ��� �	��	� =�$D9  ?�	�10   C	%�$�9 �����9�8  �	(�� ���$� �� s] �

 =	�2
� 0 5A�	�?49 +$�)& � �	E�  �	T��� $2& �	%�9�$& '	  �% �� C�	D��� 	� .

��JF��0  ?49 1#��	%  ���d��  $2& +�Hq&�� � �)� \� 0 �� '�� �% 7J9 	� 

 5d�P3��9��
9 ��� 
3�� � �� . �9������ +$�)& ?#� �� +�Hq& �� �	% ?49 52

 ?3	E9 	 � R � \� 5vS�� �� �� +�Hq&C�$& �)�H� �� �9� $2& RQ	�� \�� � . 

 7��$� 
3�� ���� =	�2
��	�9  '�$��	E�  @	
�� 5� C	%�$�9 '	r: �� $2& ?49

 .���� ��$#� +$�)& �� �	)�
�� �� s] �0 C	%�$�9 �� '�	� ?�(S� @L�� �� 

 ?�	�11:30  �9�8 x�	! C	%�$�9 �� �9	49 ��� �	��	� '	 �$�9.  

    

 0=	�2
� 
3� �� s] �)3�$:'�	� �z)!  � '���� G�H�� �� �� C�	D��� 	� $2&

 5vS�� G�H�� ) C	%�$�9 �9� $2& ?3	� �� ����� 1
c� R � \� '�	� �z)!

& �	&��! G�H��  � $2�	� �z)! $2& (�	T�  .�3�$%�)3�$: 
3�  1�	& 5�2F� 	�

 5���� �� �� ����� �	% '�	� �z)! � $2& +�Hq& .���� ��P�� 5� 5�H� 0�)3�$: 
3�

 5����  ��� �)a 	� ?�	� �)a �� ?�� 
c
� 0 C�3� 7��� +�Hq& �� ����� $2&

�8	� 5�8�� �8	� +$�)& ?#� 	
3�� ��H3	� �)3�$: 
3� ?�� �E3�� ..  �� s]

1�	& '�	� �z)! �	% ��� $2& +�Hq& �� �� 0 ���� ��+�Hq&  \� 5vS�� �� ��

 .��
9 x�	! R �  

 ?�	�13:30 1�	� ?3$3�� ��r� 	� ��9	� �$c2
� ���$� 5H2� ��� �	
   0

0 �
�8 ���� ��$3�� 0 '���EK9 � =�$�
(� � ��d�� '	  ?9�	(�HSE HSE HSE HSE  0  $�:�

 ?��$� � $�:����
� "����3�� � �)
3� e	)8�	& 0�
�8 ?D�8 e�)E� 0 ?3$

 ���� $�:� 1#� �� �9	49 ��� � �)
3� +�uH� 
�H)c� � ��$#�HSEHSEHSEHSE  � 1�c4�

 ��$Q $[9 +�	�� � `#� ���� 0 ��9	� 1��$� �� C�8 C� 	4� �(S � =�Q 6	>9

 .?:$%  


